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7i8 o ’.E\z_/eryone thinks of changing the world,
.. =% = but no one thinks of changing himself
b Leo Tolstoy

| _ "\ This story is adapted from Leo Tolstoy’s ‘The Three
Questions’. Tolstoy was regarded as one of the greatest

'and most influential authors of all time. He was born

LEO TOLSTOY on 9 September 1828 in Russia. In the 1860s, he wrote
his first great novel, War and Peace. He has written

many novels depicting realistic life of Russian society.

He died on 20 November 1910.



SUMMARY OF THE STORY

. \“\ Once there was a king. He gets a thought that he would
| ms never fail if he knew three things. These three things
were:

) \' 1. How can | learn to do the right things at the right

time?

2. Who are the people | need the most to help me with
the work?

3. How do | know which is the most important thing to
do?

# He announced that the ones who give the right answers
€ shall be rewarded. Many learned men attempted to
““ answer the king's questions, but they all came up with
different answers.




In reply to the first question, some said that gy
to know the right time for every action, one |\ (S
must draw up in advance, a table of days, &
months and years, and must live strictly §
according to it. Only thus, could everything

be done at its proper time. Others declared

the right time for every action.

Many suggested that king needs his

religious worship.



King got confused with so many different answers. So he decided to meet a wise
hermit in a nearby village. He disguised as a common man and went to meet the
hermit. The hermit lived in the wood and would only see common people.
When the King approached, the hermit was digging the ground in front of his
hut.

The king asked his questions, but the hermit went on digging. The king offered
to dig for him for a while. After digging for some time, the king again asked his

I I T ey | ST
questions. ¢ R, g ;
. SRR e S
Before the hermit could answer, a man . TR B 4 y
emerged from the woods. He was b % - '
bleeding from a terrible stomach i \ \ »_
wound. So, the king and hermit washed L2 |
the wound and bandaged till the blood § <8R | PV
-’ saat v ¥
ceased. — ﬁ - )



mw The king stayed that night in the hermit's
WAl hut. Next morning the wounded man was
W doing better and was gazing intently at
U8 the king. He confessed to the king that he
£\l is the enemy from the neighbouring

)Ml kingdom and the king had killed his
il brother in a battle. He had come to Kill
Il the king, but the king's guards had
wounded him. He thanked the king for
| taking his care all night and pleaded to
forgive him.

| The king forgives him and makes peace
with his enemy.

The king asked the hermit again for his answers, and the hermit responded that
he had just had his questions answered.



The king then goes to the hermit and, one final time,

asks his three gquestions. The hermit's response is, Herm|t Says that the k|ng had pltled hlS

“You have already been answered!™

e e -~ =& weakness and had dug those beds for
BN - him. If the king hadn’t decided to stay

time is now—the
i} mﬂmﬂﬂt!ﬂ_u_ﬂrﬂ The mos 1 .
o Cusoman s In e important | | and help the hermit, he would have
control. wpﬁ;:fﬂa;rﬁ

with because been killed by the enemy on the way

you never

Tire: mest Suportant il | back home.

task is doing good to deal with

st enee= 1 So, the most important action was
' helping the hermit. And the most

— important person was someone the

the enemy.

|
W T '

Therefore,

1. The most important time is always NOW

2. The most important PERSON is the one who needs your help.

3. The most important ACTION is to comfort the person who needs help.




EXERCISE TIME

DEAR STUDENTS

* Hope you have understood the story properly.
Please read the chapter from your Reader book.

* Write word meanings from your book in
the English copy.
(The same picture of word meaning is
also given here )

in advance: well before the time of action
getting absorbed: paying deep attention to
attend to: to deal with something or
someone

Council: a team of advisers

contradicted: argued against

hermit: a person who chooses to live
alone and far away from society .
disguised: (the King) made changes 1n
his appearance so that the others
couldn’t recognise hxm



READING COMPREHENSION

A. Write the correct answer: (Do this work in your English copy)

1. This story tells us that kings-

Ans- Also need to learn.

2. This story is about how-

Ans-A hermit imparts wisdom to a king.

3. The scholars who came to the king-

Ans- Confused him more than he already was.
4. The king went to meet the hermit because-
Ans- The hermit was known for his wisdom.



B. Answer these questions briefly. (Do this work in the English copy)

Q1. Do you think that the king was foolish? Why did he go to meet the hermit?

Ans- Yes, | think that the king was foolish. He went to meet the hermit to know
the correct answers of the three questions that were puzzling him.

Q2. Do you think that the king was humble? Give reasons for your answer.

Ans- Yes, | think that the king was humble because he helped the hermit and the
wounded enemy, also he forgave him of his deed.

Q3. The hermit didn’t pay any attention to the king while he was digging? Why
do you think he did so?

Ans- The hermit did not bother to answer every time the king asked the three
guestions because if he answered them, the king would have gone back
home and be killed by his enemy. Through perfect timing, the hermit did
not answer and the king did not go home and was not killed. Moreover,
king got his answers through self realization.



Q4. How did the hermit succeed in teaching the king what he needed to learn?

Ans- The hermit taught the king to have wisdom, acceptance, kindness, and
forgiveness. The hermit tells the king that all the answers are within
himself. By helping the wounded man and by spending time with the

hermit
self-rea
owh-se

ne gets to know the answer to his questions which he got through
ization. He learned to do good to others without thinking about

f.

Q5. Describe briefly the message that the hermit was trying to make the king
understand.

Ans- The hermit said the most important time is always now, as the king
decided to stay and help. The most important person is the one who
needs your help, like first the hermit then the wounded enemy and the
most important action is to comfort the person who needs help.

END



Click this video link to understand the
story ‘The Three Questions’ clearly.

If you are unable to open the given link in mobile device,
kindly copy the link in Google browser, else try to browse in Internet
Explorer, Mozilla Firefox.


https://youtu.be/g8BMqLDHMhQ
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TOPICS TO BE COVERED

HEAT

» FFFECTS OF HEAT

» FXPANSION IN SOLIDS, LIQUIDS AND GASES
» TEMPERATURE AND ITS MEASUREMENT

» FLOW OF HEAT. CONDUCTION, CONVECTION
AND RADIATION

Teacher's Explanation : https://youtu.be/rYOAKY7Kd8g

hitps://youtu.be/aCtlog 0cGw

= Note- If you are unable to open the given link in mobile device,
kindly copy the link in google browser, else try to browse in internet
explorer, Mozilla Firefox....



https://youtu.be/rYOAKy7Kd8g
https://youtu.be/aCtlog_0cGw

HEAT

Heat is a form of energy which gives you the sensation of hotness or coldness. It is also
called thermal energy.

» [Fffects of heat

1. Change in temperature

2. Change in state
3. Thermal expansion
4. Chemical change

®» Heqatf causes expansion
When a solid, liquid or gas is heated, its molecules start moving faster. Therefore volume

of the substance increases and causes expansion.

» Expansion in solids
Activity
Take a metalring and a metal ball. When we heat the
metal ball, the ball expands and it does not pass through

the ring. While on cooling it passes through the ring.




EXPANSION IN LIQUIDS
ACTIVity

Fill a flask upto brim with water. Fix a rubber cork with glass tube in it. When it is at room

temperature the liquid willrise a little In the tube. When flask gets heated,

water expands and its level in the glass tube goes up.

EXPANSION IN GASES
Activity

Take an empty flask and fix it to a stand in an upside- down
position over a beaker of water. Fix a rubber cork with glass

tube init. The liquid will rise a little in the tube. On heating

flask, the air in flask expands. The level of water in the glass

tube falls and air escapes out of the flask in the form of bubbles.




TEMPERATURE

The degree of hotness or coldness of a body is called its temperature.

MEASUREMENT OF TEMPERATURE

There are three scales of measurement of temperature —

» Kelvinscale (K)
The Sl unit of temperature is kelvin.
» The Celsius scale (°c)

On the Celsius scale, the freezing point of water is 0°c whereas its

boiling pointis 100°c. Therefore the lower and upper fixed points

in the Celsius scale are 0°c and 100°c.
» The Fahrenheit scale (°F)

Its lower fixed point is 32°F and the upper fixed point is 212°F.
Conversion
°C to °F : F=(°Cx9/5) + 32

Or

°F to °C: C = (°F-32) x5/9




THERMOMETER

The instrument used to measure the temperature is called a thermometer.
Construction

A thermometer is made — up of a thin long and uniform glass tube called capillary tube.
It has a bulb at one end. A silver — coloured liquid called mercury is filled in the bulb, is
used for measuring temperature.

Working
Thermometer works on the principle that heat energy causes expansion.

<

= O
Why do we use mercury? | Ej
We use mercury because

» The expansion of liquid is usually beftter as it is very low in solids and quite high in
gases.

» |t has shine and does not stick to the inner surface of capillary tube.
®» But it cannot be used at very low temperature because it freezes at -38.87°C.

Alcohol thermometer
®» |fjsused to measure lower temperature upto -115°C.
» |t is generally used to measure room temperature.



LABORATORY THERMOMETER

The laboratory thermometer has a long narrow glass tube.

It has a bulb at one end containing mercury. The

range of laboratory thermometer is generally from -10°C to
110°C.
®» The longer mark normally reads 1°C.

» There are 5 divisions between the longer marks.

» FEach small division reads 1/5™ of a degree or 0.2°C.

PRECAUTIONS TO BE TAKEN WHILE USING IT -

»  Always wash the thermometer before and after use.
= Should not be hold by the bulb while reading the

temperature.

» The bulb should not touch the sides of the container.




CLINICAL THERMOMETER

The thermometer that is used to measure the body temperature is

called clinical thermometer or Doctor's thermometer.

The normal body temperature of a healthy person is 37°C or 98.6°F.
Consiruction of clinical thermometer

A clinical thermometer has a long narrow glass fube. It has a bulb at

one end containing mercury. It has a scale called Celsius scale
marked in °C. A clinical thermometer reads temperature from 35°C
to 42°C. A clinical thermometer has a small kink near the bulb to

prevent the mercury level from falling down in the stem.




DIGITAL THERMOMETER

® Digital thermometeris easy to read because it gives electronic display of the
temperature.

» They are mercury free because mercury is toxic in nature.

» |f a thermometer breaks mercury is difficult to dispose.

= FLOW OF HEAT -
Heat flows from a body at a higher temperature to Ciiaulion
a body at a lower temperature. This is called flow of

heat. Radistion

» Heat is fransferred in 3 different ways. They

are-
» Conduction
» Convection

» Radiation




CONDUCTION

Conduction is the process by which heat is transferred

in solids from the hotter end to the colder end.

Activity

Take an iron or aluminium rod or strip. Fix a few wax pieces at equal distances. Clamp
the rod to the stand. Heat the other end to the rod. The wax pieces begin to melt and
fall down from the heated end. This shows that heat is fransferred from the hotter end to
the colder end by conduction.

» Good conductors of heat

They allow heat to pass through them easily.

For e.g. Iron, aluminium, copper efc.

= Bad conductors of heat

They do not allow heat to pass through them

easily. They are also called insulators.

For e.g. Wood, plastic, rubber, glass, air, water etc.

(b) Igivo



CONVECTION

Convection is the process by which heat is transferred in liquids and
gases from the hotter part to the colder part.

ACTIVITY

Take some waterin a vessel. Keep it on the flame.

The water at the bottom becomes hot and rises up and cold water from
the fop moves down. This water becomes hot and rises up and cold

water from the top moves down and the process continues till all the
water gets heated. This shows that heat is transferred by convection.




CONVECTION IN AIR

The air near the heat source gets heated and rise

up. The air from the sides move in to take its
place.

In this way the air gets heated. If you keep one /@
hand above a flame and one hand on the side o

of the flame, the hand at the top feels hot
because the air above is heated by convection. cuecen |

The hand atf the side does not feel as hot

NN q\\.Q\\
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Radiation \@é

because there is no convection.




SEA BREEZE AND LAND BREEZE

= SEA BREEZE

During the day, the land gets heated faster than the sea. So the air

above the land gets heated becomes hotter and rises up and cool

air from the sea moves towards the land. This is called sea breeze.

=» Land breeze

air above the searises up and cool air from the land moves

towards the sea this is called land breeze.

RADIATION

It is a process by which heat is transferred from one

ISHTY TiIME

place to another without the help of any medium.

For e.g. The heat from the sun reaches the earth by radiation.




THERMOS FLASK

A thermos flask is a very good example of how heat loss by all d
three modes of heat fransfer, namely conduction, convection
and radiation is minimized.

®» Heafloss due to conduction is minimized by using insulating
materials (like plastic) for the outer casing and the cap of the
thermos flask.

®» The innerjaris a double- walled bottle made of glass. The
space between the two walls is a vacuum. This reduces heat
loss due to convection as there are no air molecules to carry
the heat away.

®» Heat loss due to radiation is minimized by making the surface
of the jar highly reflective, so that heat radiations are
reflected back into the jar.



TEST YOUR KNOWLEDGE

» Answers

=» A Very Short Answer Question:s.

1. Radiation

Liquid

Celsius scale is more convenient to use as it is easy to calculate.

The hotter an object is, the higher is its temperature.

It prevents the level of mercury from falling down in the stem.

Jooen s el e

E Short Answer Questions type- |

1. Bimetallic strip consists of brass and iron.

2. To protect from damage, in steel bridge, one end is made to rest
on rollers with enough space provided for expansion during

summer.




3.

»
4,
»
»

Conditions for conduction of heat:
The two objects should be in contact.
The temperature of the two objects should not be the same.
Conductor
They allow heat energy to flow through them.
For eg. Metals are good conductors of heat.
Insulator
They do not allow heat energy to flow through them.
For eg. Wool, plastic, cotton, glass etc.

5. Cooking vessels are provided with copper bottoms. So that heat

6

can easily get transferred to food and food cooks fast.
. Eskimos make igloos out of snow because snow contains large

amount of tfrapped air, which act as insulator and keeps the igloos
warm inside.



» F Short Answer Questions type- Il

1. Ventilators are placed usually near the ceiling of
a room because the air we breathe out is warmer
and lighter, so it goes out through the ventilators
and fresh air enters in the room.

2. Wool fibres have much space between them,
which get filled with air. Air is an insulator. Thus keep
us warm in winter.

3. Room heaters have a polished metallic surface
behind the heating coil. It reflects most of the
radiant heat that falls on it and gives effective
heating to the room.

4. Effects of heat —

®» Heat causesincrease in temperature.
®» Heat causesincrease in volume.

» Heat causes change in physical state.
» Heat causes chemical change.

5. In a thermometer the temperature at which pure
water freezes is taken as the lower fixed point
whereas the temperature at which pure water boils is
taken as the upper fixed point.

6. See the image. &

Differences:

Clinical thermometer | Laboratory thermometer
Temperature range is  {Temperature range is from
from35°Ct042°C.  |-10°Cto 110°C.

Itis used to measure
temperature of human

Itis used to measure
temperature in
experiments performed in

oy laboratory.

[t has a kink which

prevents the Usually, it does hot have a
immediate back flow  [kink.

of mercury.




» G Long Answer Questions.

1.

2. a) 30°c to °F and 80°F to °C

3

Expansion on heating is put to good use in fire alarm. Attach a bimetallic

strip of iron and brass to the electric circuit, whichis having a battery,

electric bell and a metallic pointer. When this bimetallic strip gets heated

up due to fire, it bends on the side of iron because brass expands more
fhaniron. As it bends and fouches the pointer, the electric circuit is

Iron ‘ B

completed and the bell starts ringing.&

F= (9/5C)+32 C=5/9 (F-32) Electri
= 9/5x30 +32 = 5/9 (80-32) Bat}:" |
= 54+32 = 5/9 x 48
= 864°F = 240/9 3. At normal temperature
= 26.67°C

b) The normal body temperature of a healthy person is 37°C or 98.6°F.
. Precautions to be taken while using laboratory thermometer-

Always wash the thermometer before and after use.

Should not be hold by the bulb while reading the temperature.

The bulb should not touch the sides of the container.

b. When heated



4. Sea breeze and land breeze-

= Sed breeze
During the day, the land gets heated faster than the sea. So the air
above the land gets heated becomes hotter and rises up and cool air
from the sea moves towards the land. This is called sea breeze.

= |and breeze
During the night, sea cools down slowly than the land. So the hot air
above the sea rises up and the cool air from the land moves towards
the sea. This is called land breeze.

5. Black objects absorb and radiate more heat than white objects. For eg-

» Black and dark coloured clothes are more suitable in winter because they
absorb most of the sun’s radiant heat.
» The base of the cooking vessel is painted black so as to absorb most of the heat

energy provided and cook the food in less time.

6. A thermos flask prevents the transfer of heat by conduction, convection
and radiation.

®» Heat loss due to conduction is minimized by using insulating materials
like plastic for the outer casing and the cap of the thermo flask.




» The innerjaris a double- walled bottle made of glass. The space between the two

walls is a vacuum. This reduces heat loss due to convection as there are no air

molecules to carry the heat away.

» Heatloss due to radiation is minimized by making the surface of the jar highly
reflective, so that heat radiations are reflected back into the jar.

Instructions

= Read the lesson thoroughly.

= Under your parents guidance, do question B, C, D, and | in your
science book. (Page 63, 64, 65)

= Do question A, E, F, and G in the science copy. ( Answers given)

= Draw well labelled diagram of the following in the science copy.

Clinical thermometer, sea breeze, land breeze, thermos flask.
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»= INTERIOR OF THE EARTH

Inner core

800 miles
(1,300 kilometers)

L e For better understanding click on the link below

(2,250 kilometers)

71,800 miles
L (2,900 kilometers)
7

51025 miles
(810 40 kilometers)

https://www.youtube.com/watch?v=yrCcvZIm1sQ 0.
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https://www.youtube.com/watch?v=yrCcvZlm1sQ

INTRODUCTION

d The Earth was formed 5 billion years ago. In the

L . Crust
beginning it was hot and molten, then slowly it
n ire the present form.
cooled down to acquire the present fo Upper Mantle
 During this cooling process, the denser materials
(like iron, nickel) stayed in the center and lighter
ones like silicon, aluminum stayed in the outer Lower Mantle

surface.

 Gradually the earth formed several concentric layers

Outer Core (liquid)
which look like the peels of an onion.

[ The different layers are called:
1. Crust

2. Mantle
3. Core.

Inner Core (solid)



THE CRUST

It is the solid, thin, uppermost layer of the " 4
earth. It consists of continents and ocean basins

and is up to 35 km thick in the continental floor (\[’u,gi
and 5 km thick in the oceanic floor. the outermost layer
ofthe earth

J The average density of the crust is 2.7 grams
per centimeter cube. The crust makes up only
0.5% of the Earth’s volume.

JIThe major elements of the continental crust are

Silica and Aluminum so the continental crust is also
called SIAL.

IThe major elements of the oceanic crust are Silica
and Magnesium so the oceanic crust is also called
SIMA.




THE MANTLE

It is the middle layer of the earth
and lies between the crust and the
core.

It is approximately 2900 km deep.
It’s density varies from 3.5 to 5.5 gm
per centimeter cube. It makes up to
16 % volume of the Earth.

A It is made up of heavy elements like
basalt, granite, sodium, magnesium,
sulphur. But it’s main elements are
silicon and magnesium, so it is also
called SIMA.

= /Lithosphele
Z(crust and upper-
most solid mantle)

Crust 0-100 km
thick ""/‘ ‘

Inner
~._ core

6378 km

To scale



THE CORE

[ Core is the inner most layer of the Crust
earth. Marti

It extends from about 2900-6400 km f’“‘e"”"’
below the crust.

It’s density varies from 9.9 to 13 gm
per centimeter cube. It consists 83%
of the volume of the Earth.

It’s radius is about 3500 km and has
very high temperature and pressure.

It is mainly made up of Nickel and Iron
(ferrous), so it is called NIFE.



USEFULNESS OF THE DIFFERENT LAYERS OF THE
EARTH

J The Earth is home of various
continents, islands, forests, animals, etc.

It produces seismic waves which help
study earth’s interior.

J When the magma from the Earth’s
interior cools down, it provides different
types of rocks (igneous, sedimentary
and metamorphic).

J Earth’s interior is rich in minerals.




ROCKS

1 The Earth’s crust is made up of rocks, which are made up of
minerals.

J Any natural mass of mineral matter that makes up the earth’s
crust is called a ROCK.

1 They are solid particles made up of mixture of minerals and can
be hard, soft or elastic.

d The rocks vary in color, size, texture, composition, hardness,
softness, etc.

1 These variations are the result of their formation process.

J On the basis of their formation (Origin or Birth) they are
classified as: 1) lIgneous rocks 2) Sedimentary rocks 3)
Metamorphic rocks.

J Rocks are used for making buildings, roads, bridges, houses,
etc.




IGNEOUS ROCKS

JThe word IGNEOUS comes from a Latin
word ‘IGNIS’ which means ‘fire’.

JThe fiery red hot molten material
(Magma) from the earth’s interior comes 8
out to the surface in the form of Lava and 8
cools down to form Igneous rocks. J

JThese rocks are called PRIMARY ROCKS as
they are the ancestors of all other rocks.

dThey occur in large shapeless masses, are &
crystalline and hard in structure. '




TYPES OF IGNEOUS ROCKS

e Extrusive (volcanic)
JWhen the molten lava cools down on the earth’s
surface, they are called extrusive Igneous rocks.

JExample:- Basalt

Black soil is formed from Basalt — It is good for
cotton cultivation.

e |ntrusive (Plutonic)

(dMagma cools down deep inside the earth’s .
crust forming intrusive Igneous rocks.

JExample:- Granite

underground
or plutons.

JGrinding stones are made from granite.



SEDIMENTARY ROCKS

d The word sedimentary comes from Latin word ‘Sedimentum
meaning ‘settle down’.

’

U They are formed by the sediments of other rocks broken down =
through action of various weathering agents like running water, s
wind, glacier, etc. |

1 When rocks roll down, they crack, hit each other and are broken
down into small particles called sediments. SR

[ These sediments get transported and deposited by wind, water, k",;
etc., get compressed and hardened to form layers of rocks known #,, fad *”?. '
as sedimentary rocks. " " e

1 Itis called Stratified Rocks as they are deposited in different
layers (strata).

) They are rich in fossils- (remains of dead plants and animals)
which get trapped in between these layers. Example:- Sandstone,
chalk, Dolerite, etc.



METAMORPHIC ROCKS

A The word Metamorphic is derived from a Greek
word ‘metamorphosis’ meaning ‘change of form’.

JThe rocks which have changed from their original
form due to pressure and heat are called
Metamorphic rocks. The Igneous and sedimentary

rocks change under immense heat and pressure to
form these rocks.

A This process takes a long period of time.

_IExample:- Igneous rock granite and coal changes to
Metamorphic rock gneiss and graphite respectively.
Sedimentary rocks clay and limestone changes to
slate and marble respectively.




ROCK CYCLE

Like water cycle, the rocks also have a cycle.

igneous rocks/ Primary rocks when exposed to
weather changes give birth to sedimentary rocks
over a period of time.

dBoth these type of rocks when exposed to
excessive heat and pressure form Metamorphic
rocks.

A Metamorphic rocks melt down and form molten
magma when this molten magma cools down and
solidifies to form Igneous rocks.

A This continuous change of one type of rock to
another type of rock takes thousands of years and
is called a rock cycle.
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(1 Minerals are the natural inorganic substances which have

v e

chemical composition and physical properties.

aT
e

AT
aT

ney may be made up of single element (gold, sulphur) or more than one
ement (Quartz).

ney can be metallic (copper, iron) or non-metallic (mica, gypsum)

ney are very useful in our day to day life. They are used for building bridges,

factories, computers, pencils, etc.

dThey provide us with fuels (Coal, Petroleum, etc.) as well as resinous stones
(gems, diamonds).

A They are also used in industries, medicines and fertilizers.



NOTE: Do the following exercises in your S.St (Geography) copy.

Q.1 Multiple choice questions :
1. Which one of the following match is incorrect?

a) lgneous rocks- molten lava

b) Sedimentary rocks- fossil fuel

c) Metaphoric rocks-heat and pressure
d) Crust- innermost layer

2. Which one of the following is the thinnest layer of the
earth's interior?

a) Mantle  b) Crust
3. Which one of the following is an example of minerals?
a) Basalt b) Granite

c) Core d) Exosphere

c) Petroleum d) Fossils
4. It is the innermost layer of the earth

a) Core b)Mantle d) None of these
5. Which of the following is associated with the rocks?

a) Water cycle b)Rock cycle c) Business cycle d) None of
these

Ans. 1.(d) 2.(b) 3.(c) 4.(a) 5.(b)

c) Crust

Q.2 Very short answer type questions:

1. Name the different layers of the earth.
Ans. Crust, mantle and core are the three layers of the
Earth's interior.

2. What do you know about the rock cycle?
Ans. Rock cycle is a continuous cycle of change of one
type of rock to another type of rock.

3. Write down any two features of the different layers
of the earth.

Ans. i) Crust, Mantle and core are the three different
layers of the earth's interior.

ii) Crust is the uppermost, mantle is the middle and the
core is the innermost layer of the earth.

4, Define minerals.

Ans. Minerals are the natural and organic substances
which have a definite chemical composition and
physical properties.



Q.3 Short answer type question:

1. Differentiate between the intrusive and
extrusive igneous rocks.

Ans. Intrusive igneous rocks:

i) These rocks are also called the Plutonic
rocks.

i) These are formed when the molten magma
cools down deep inside Earth's crust.

iii) Granite is an intrusive igneous rock.

Extrusive igneous rocks:

i) These rocks are also known as the Volcanic
rocks.

i) These are formed when the molten lava
comes on the earth surface, it cools down and
becomes solid to form rocks.

iii) Basalt is an extrusive igneous rock.

* 2. Name the three types of rocks and explain any
one.

Ans. Igneous, sedimentary and metaphoric are the
three types of rocks, found on the Earth surface.

Igneous rocks:
i) Igneous word is derived from the Latin word
‘ignis’ means fire.
i) These are formed by the cooling and
solidification of the molten lava.
iii)These rocks are also called the primary rocks
because these are the ancestors of all
other rocks.
iv)They make up 85% or more of the earth's
crust
v) These are crystalline in structure.

* 3. Whatis arock cycle?

* Ans. Itis a continuous cycle of change of one type
of rock to another type of rock.



Q.4 Long answer type questions:
1. Give a brief account on different types of rocks.

Ans. The rocks are of different types. They vary in physical
properties. They have different colour, size, texture,
hardness, softness, etc. These are classified into three
categories. These are the igneous, sedimentary and
metamorphic rocks.

a) Igneous Rocks :

i) Igneous word is derived from the Latin word ignis means

fire.

ii) These rocks are formed by the cooling and solidification of
the molten lava.

iii) Igneous rocks are also called the primary rocks because
these are the ancestors of all other rocks. Igneous rocks

can be intrusive or extrusive rocks.

iv) These rocks lack in fossils and are very hard.

v) Basalt, dolerite and granite are the examples of igneous

rocks.

b) Sedimentary Rocks :

i) The word sedimentary is derived from Latin word
sedimentum meaning settle down.

ii) These rocks are formed by the sediments of other rocks

which were broken down through action of various
weathering agents such as running water, wind, glaciers,
etc. These tiny particles of the rocks are called the
sediments.

iii) With the passage of time the sediments transported and

deposited by wind, water, etc. get compressed and
hardened to form layers of rocks. These rocks are known

as the sedimentary rocks.
iv) Sand stones, chalk and dolerite are the examples of the

sedimentary rocks. Sedimentary rocks are rich in fossils.

c) Metamorphic Rocks:

i) The word metaphoric is derived from a Greek word
metamorphosis meaning change of form.

ii) The rocks that have been changed from their original

form due to pressure and great heat are called the

metamorphic rocks.

iii)To form the metaphoric rocks, the igneous and
sedimentary rocks are get changed under great heat

and pressure.

iv) The process which form metamorphic rocks take

place over a long period of time.



* 2. How are the rocks and minerals useful for human beings?
Ans. Usefulness of rocks and minerals are as follows:
i) They also play a significant role in the development of the
mankind.

ii) These are used for making buildings, roads, houses etc.
iii) Minerals are used in preparing a number of things like
computers, sunglasses, cans, pencils, slates, etc.
iv) Coal, petroleum and natural gas are used as fuel. They
also provide us precious stones like gems and diamonds.
v) These are also used in industries, medicine and fertilizers

* 3. It is impossible to reach the centre of the earth. Give
reasons.

Ans. This statement is true that it is impossible to reach the
centre of the earth . The earth's radius is about 6371 kilometer.
We cannot go to the centre of the Earth . This is because the
central core has very high temperature and pressure. To meet
this purpose, we have to dig a hole with the depth of 6000 km
on the ocean floor. This is not possible. Depth of known deepest
mine of the world is only 4 km. It is located in South Africa. To get
mineral oil, engineers have to dig a hole of about 6 km deep.

4. How are sedimentary rocks formed from
sediments?

Ans. The sedimentary rocks are formed by the
sediments of other rocks that were broken
down through action of various weathering
agents such as running water, wind, glaciers,
etc. Usually the rock roll down, crack and hit
each other and are broken down into small
particles. These tiny particles of the rocks are
called the sediments. With the passage of time,
these sediments transported and deposited by
water, wind, etc. get compressed and hardened
to form the layers of the rocks. These rocks are
known as the sedimentary rocks. These rocks
are rich in fossils. Examples: sand stone, chalk,
dolerite,etc.



5. Granite and limestone are changed into
gneiss and marble respectively. Give
reasons.

Ans. Gneiss and marble are the examples of
the metamorphic rocks. The rocks that have
been changed from their original form due to
pressure and great heat are called the
metamorphic rocks. The igneous and
sedimentary rocks get changed under great
heat and pressure to form various
metamorphic rocks this process which forms
the metamorphic rocks take place over a long
period of time. Granite is an igneous rock that
gets converted into a Metamorphic rock
called gneiss. Similarly, a sedimentary rock
called the limestone is converts into marble.
This changes take place under great heat and
pressure.

Q5. Draw well labeled diagram of different layers of
Earth ( Refer slide 2).

Q6. Draw well labeled diagram of Rock Cycle ( Refer
slide 12).

Q7. Match the following:

1. Mantle a)Taj Mahal

2. Minerals b)Materials that form rocks
3. Metamorphic rocks c) 2900 km

4. Oceanic crust d) Changes into slate

5. Clay e) SIMA

ANS.: 1 (c), 2 (b), 3 (a), 4 (e), 5 (d)

THANK YOU
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Here are some basic definitions and
properties of lines and angles in
Recap Geometrical Terms

. An exactlocation on a planeis
@
Point called a point.

A straightpathon a plane,

Line = >~ extending in both directions
with noendpoints, is called a
line.

5 A partof a line that has two
Line

@ . endpoints and thus has a
segment definite lengthis called a line
segment.
A line segment extended
indefinitely in one direction
Ray @ > 4

is called a ray.




Distinction between line-segment, ray and line:

1. It has two end 1. Ray has one 1. There are no end
points. starting point and points in a line.
another near the
arrowhead.

2. The length of a 2. It has a starting 2. There are no end

line-segment is point but no other points. So, length

definite. So, it end point. So, its of a line cannot

can be measured. length cannot be be measured.
measured.

3. The symbol of a 3. The symbol of a 3. The symbol of a
line-segment ray is — line is <
IS —



LINE SEGMENT

End

N— Points
SIAN 8
Part of

Partof  Lint AB 4Ray

akine W or Line Segment AB

(or)
ﬁ e—m——aa
NOT RayBAor BA AB

RayAB 0
Lnp % 9AD {or) A8




In Geometry there are basically four types of lines. They are :

When a line moves from left to right direction,
it is horizontal.

A B

When a runs from top to bottom it is vertical.

The lines drawn in a slanting position
are called oblique or slanting lines




Point:

e It is the mark of position and has an exact location.

e It has no length, breadth or thickness.

e It is denoted by a dot made by the tip of a sharp pencil.
e It is denoted by capital letter.

e In the given figure P, Q, R represents different point.

L
Y

What is a Line?
A line can be defined as a straight set of points that extend in o
directions line

It has no ends in both directions(infinite) _
It has no thickness o

it is one-dimensional =




Incidence Properties of Lines in a Plane: »

An infinite number of lines can be drawn to pass ,
through a given point in a plane. ¥ vy 3

One and only one line can be drawn to pass through

two given points, i.e., two distinct pointsin a
plane. This line lies wholly in the plane.

Infinite number of points lie on the line in a plane.

(&

- Ll

TR
Two lines in a plane either intersect at a point or they are
parallel to each other.

1
1
R=d 133
a

Inrersecity litres Farallel lines

Collinear Points:
Two or more points which lie on the same line in a plane are

called collinear points. “ABC

e 111



=

Based on concepts or operation
performed on lines, they are :

{

N

Parallel Lines

Perpedicular Lines

Intersecting Lines

[ Based on the relation between two angles,
conceptual wise, theyare :

\
N

Supplementary Angles

I Complementary Angles

| Adjacent Angles

I Vertically Opposite Angles




Concurrent Lines:

Three or more lines which pass through the
same point are called concurrent lines and
this common point is called the point of
concurrence. In the adjoining figure, lines p,
q, r, s, t, uintersect at point O and are called

concurrent lines.
Two lines in a Plane:

Intersecting Lines: Two lines in a plane which cut each other at
common point are called intersecting lines and the point is called
the point of intersection. In the adjoining figure, lines | and m

1
><
m

intersect at point O.

Parallel Lines: Two lines in a plane which do not intersect at any
point, i.e., they do not have any point in common are called
parallel lines. The distance between the two parallel lines
remains the same throughout.




Classification of angles on the basis of their degree measures
are given below:

An angle whose measure is more than 0° but less
than 90° is called an acute angle. Angles having
magnitudes 30°, 40°, 60°are all acute angles.

In the adjoining figure, £X0Y represents

an acute angle. zX0Y < 90°

An angle whose measure is equal to 90° is called
a right angle. In the adjoining figure 2ABC
represents a right angle.

£ABC = 90°

An angle whose measure is more than 90° but
less than 180° is called an obtuse angle. In the

adjoining figure, £XYZ represents an obtuse angle.
2XYZ > 90° , «XYZ < 180°




An angle whose measure is equal to 180° is called a straight
angle. In the adjoining figure, 2XQY represents a straight angle.
£X0OY = 180°

-—l—Q——n—»

X o] Y

An angle whose measure is more than 180° but less than
360° is called a reflex angle. In the adjoining figure, 2POQ

is a reflex angle. Angles having magnitudes 220°, 250°, 310°
are all reflex angles.
£2POQ > 180° "
2POQ < 360°

An angle whose measure is equal to 360° is called a
complete angle. In the adjoining figure, BOA represents
a complete angle.

60 minutes = 1 revolution = 1 complete angle.

e -
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4. Linear pair:

ically opposite angles:




(Chapter - 5) (Lines and Angles)
{Class - VII)

Exercise 5.1
Question 1:

Find the complement of each of the following

angles:
Answer I: 20

Complementary angle = 90" — given angle @
(i) Complement of 20" = 90" —20" = 70"

Question 2:

Find the supplement of each of the following
angles:

Answer 2:
Supplementary angle = 180" — given angle
(i) Supplement of 105" = 180" ~105" = 75"
Question 3:

Identify which of the following pairs of angies are compiementary and which are supplementary:
(i) 65°115°  (vi)  80°.10°

Answer 3:
If sum of two angles is 1807, then they are called supplementary angles.
If sum of two angles is 907, then they are called complementary angles.

(i) 65°+115°=180° These are supplementary angles.
(vi) 80°+10°=90°

Question 4:
Find the angle which is equal to its complement.
Answer 4:
Let one of the two equal complementary angles be x.
f X+ x=90
= 2x =90

= = =45
2

These are complementary angles.

Thus, 45" is equal to its complement.




Question 6:

In the given figure, £ 1 and £ 2 are supplementary angles. If £ 1 is

decreased, what changes should take place in £ 2 so that both the angles
still remain supplementary?

2
Answer 6: < >

If £ 1is decreased then, £ 2 will increase with the same measure, so that both the angles still remain
supplementary.
Question 8:

An angle is greater than 45°, Is its complementary angle greater than 45° or equal to 45° or I
than 45°7

Answer 8:
Let the complementary angles be x and y, e, x+ y=90"
It is given that x> 45
Adding y both sides, X+y>45 + y
= 90 >45 + ¥
= 90 —-45" > ¥
= y<45
Thus, its complementary angle is less than 45°,

Question 12:

Find the values of the angles x,y and = in each of the
following:
Answer 12:

(i) x=55° [Vertically obnosite aneles]
Now 55°+ y =180° ILinear pairl]
y=180°-55°=125°

Also y=2z=125° [Vertically opposite angles]
Thus, x=55°% y=125° and z=125°.
40° + x +25° =180°

65°+x=180rF

x=180"-65° = 115°

Now 40°+ y=180°

[Angles on straight line]

[Linear pair]
y=180°-40°=140° = . (1)
Also y+z=180°

140° 4+ z = 180°

z= 1801407 = 40r

Thus, x =115° y =140° and z =40°

[Linear pair]
|From equation (i)]




WORKSHEET
MATHEMATICS

CLASS : VI 6. The number of angles in Fig. 2.81s
(A) 3 (B] 4
1. Number of lines passing through five points such that no three of (€] 5 o) &
them are collinear is
(A) 10 [B) & () 20 (D) 8

2. Number of line segments in Fig. 2.5 is . 7. The number of obtuse angles in Fig, 2.9 is
W5 (B0 (©1B (D20 g 25 W 2 B) 3

3, Measures of the two angles between hour and minute hands of a @4 D) 5

clock at 9 0" clock are
(4) 607, 300°  (B] 270°, 90" (C) 75°,285° (D) 30°, 330°

4. In Fig. 2.6, ZXYZ cannot be written as
(A) &Y (B £ZXY
[c) 22X (D) £XYP

8. If the sum of two angles is greater than 180°, then which of the
following is not possible for the two angles?
(A) One obtuse angle and one acute ange
(B) One reflex angle and one acute angle
(C) Two obtuse angles
(D) Two right angles.

5. In Fig 2.7, if point A is shifted to
point B along the ray FX such that 0,. If the sum of two angles i equal to an obtuse angle, then which of

PB = 2PA, then the measure of ZBPY is . the following 15 not possible?
[A) greater than 45 B 48° I 3 (A) One obtuse angle and one acute angle.
[C] less than 45° (D) 80° (B) One right angle and one acute angle.
(C) Two acute angles.
(D) Two right anges
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BIDDEN CITY g W

The Forbidden City is a palace complex in
central Beijing, China.

The Forbidden City served as the palace for both the
Ming and Qing emperors Zhu Di between 1406 and
1420.

The Forbidden City served as the home of Chinese
emperors and their households and was the
ceremonial and political centre of the Chinese
government for almost 500 years.

Most of the buildings in this palace complex face
south to honour the sun.




THE BUCKIN

PALACE

* Buckingham Palace is the London residence and
administrative headquarters of the monarchy of United
Kingdom.

* Buckingham House, the building at the core of today's
palace was a large townhouse built for the Duke of
Buckingham in 1703 on a site that had been in private
ownership for at least 150 years. It was acquired
by King George Ill in 1761 as a private residence
for Queen Charlotte and became known as The
Queen's House.

 Queen Victoria was the first member of the royal
family to formally live in the Buckingham Palace.



SCHLOSS

Schonbrunn Palace was the main summer
residence of the Habsburg rulers, located
In Hietzing, Vienna.

The 1,441-room Rococo palace (originally built by
Johann Bernhard Fischer von Eriach in 1711) is
one of the most important architectural, cultural,
and historic monuments in the country.

The palace houses, perhaps, the oldest zoo in
Europe, the Schonbrunn Tiergarten, which was
established in 1752.




THE NYMF
PALACE

The Nymphenburg Palace is situated in Munich's western
district in Bavaria, southern Germany.

 The construction of the palace began in 1664.

 The gardens of the palace were designed by Carbonet, a
French designer, who has also designed the gardens in the
Palace of Versailles.

* The Nymphenburg served as the main summer residence for
the former rulers of Bavaria of the House of Wittelsbach.

* The palace, together with its park, is now one of the most
famous sights of Munich. The baroque facades comprise an
overall width of about 700 metres. Some rooms still show
their original baroque decoration while others were later
redesigned in rococo or neoclassical style.



INSTRUCTIONS

* Read the topic thoroughly.

* For better understanding of the topic open

the following link:
https://youtu.be/XBiTb3g GKI

* Find out the information about Apostolic
Palace, Rashtrapati Bhavan and Royal Palace
of Amsterdam and write it on a separate
sheet.



https://youtu.be/XBiTb3g_GKI
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https://youtu.be/VecZZwk50Qo

Viewing properties of File/ Folder

Cost Properties

e To view information about
a file or folder, right-click it

General | Secuity | Custom | Summary

and select Properties. You i

can also select the file and Type offlec  Mictosol Excel Worksheet

press Alt + Enter . The file Openswitc [ MosoExcd [ Crange. )
properties WindOW ShOWS Locatior  C:ADocuments and Setlings\FCIT\Desktop
you information like the See | lomEalisEg sen

type Of file' the Size Of Size ondisk: 200 KB (20,480 bytes)

the fi|e’ and When yOU IaSt Created: Thursday, September 02, 2004, 7:38:26 PM
m0d|f|ed it. Modified Thursday, September 02, 2004, 7:33:38 PM

Accessed Today, Apal 21, 2006, 11:55:22 AM

Atrbutes:  [[JRead-only []Hidden | Advanced.

[ oK ] [ Cancel




Creating Shortcut of File/ Folder

To create a desktop icon

or shortcut, do the following: — S
Select the file / folder for PptStrt
which you want - s

to create a shortcut. B Gnpesandni. |
Right-click the file for which o
you want to create a shortcut. Sendi

Select Create Shortcut from E;}

the menu. ... o

Drag the shortcut to 2“

the desktop or any other
folder.



Name
Date

Type
Size

Grouping File/ Folder

PEEE—— - —— - :
o | D {3 | Drive Tools W32 (C) 2 ‘i‘ 0
File Home Share View Manage
(€ 5 v b i Computer » WBA2(C) vl ¢ | L sedeh Waeiic)
3 Docur ™ Name Date modified Type Size
@ Music file folder (6
dF (B
=T e folder (6)
E Windows 6820314 AM  Filefolder
Users -— 650 PM  File folder
View L 2
SOUMCES 20PM File folder
rogram Files __?EEY P b0l Ele folder
PerfLogs "‘.M 4 Name
Intel " Refresh Date modified
. ] | Type
4 File Explorer Comman Paste E P

5 WTLL
&0 VS++

gﬁ Metwiorl

@ desktop.scf

[1]

Paste shortcut
Share with
Mew

Properties




Onscreen keyboard

To open the On-Screen Keyboard

 Go to Start , then select Settings > Ease of
Access > Keyboard, and turn on the toggle under Use the
On-Screen Keyboard. A keyboard that can be used to move
around the screen and enter text will appear on the screen.
The keyboard will remain on the screen until you close it.

™

= a o8 « ¢ o9




Organising files and Folder with
ES File Explorer

ES File explorer is a file manager application to
organise files and folders on a tablet/ phone or
PC.

l"_—_-\ Local

J_\ﬂ Library
Uar

MNetwar




CD BURNING

CD-ROM, depending on the specific disc, can run from about 650
MB to 700 MB of data capacity. A DVD, by comparison, can
contain 4.7 GB of data on a single layer disc. Dual layer discs (most
Hollywood movies released on DVD use dual-layer DVDs) can
contain up to 8.5 GB of data.

Open the Nero CD-burning program
Choose Data CD, Click Add to browse for your file

Select the file (or files) you want to add and then click add (when
you are finished adding files, click close)

Click next, Click Burn and let the process finish
Click Done and your CD will automatically eject.



Worksheet
(Do worksheet in Notebook)

1. Rahul is a student of class 7. During the lockdown
he prepares a science project using computer. He
decides to copy the project in a CD. Suggest the
software he should use o perform the same.

2. Moving an item across the screen with the mouse.
a). Web browser c). Recycle bin d).Drag

3. is the set of instruction given to the
computer to perform a specific task.
a). Monitor b).Hardware c). Software




Worksheet
(Do also worksheet in Notebook)
3. creates a link between a user

and the computer.
a).Device Driver b) Utilities c¢) Operating System

4, is the most famous type of
Operating System for personal computer.
a). Linux b). Unix c). Microsoft Windows

5. Windows explorer serves as a .
a). System Manager b). File Manager c). Web Browser
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